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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(ix) YT § & J97 G122 8 27 FAVTHS FI9T T STEMRT §1-21 351 & 597 & | 57 I
arRET T E
General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be

answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be

answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each

question is a two-marks question. These are to be answered in brief.
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Section — A

1. S % Teh YANT H ST T b ISUT GTet HeX o Wi ShT Tehtul Thg Fetl aTet et o qief &
AT T | F, St | 1 Gioms S gil 7 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F, progeny ?

2. et foegd T 0 g 9l St -wuTater fafa | 1

Write the energy conversion that takes place in a hydropower plant.

3. WIS AR ‘X ST A5 ToRIh ST o A1 443 K TTH i T hIE 6 AReh
Y’ s1aT B | Afies XC wifem arg @ ot stfufen s @ e e wh e oz
fepardt 8 1 X0, Y’ QYT ‘Z° Bl UEEIHT | Y’ 3 BN hl THRIeh AR 1
TefteRtor oft foTRau qen o g Hewyiteh 37 shi it &1 Ieor@ o i | 2

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X’, Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of Y’ and also write the role of sulphuric acid in the reaction.

4. (a) WG H YT dT6] Ueh T HAG! UTET AT Th HIUATE! 3T A fIRa | 2
(b) = feu e =i & wae s, e e faega e % w9 § T S R, B
319t IR YfEeht W Wigent 398 a 3R b o1 919 fafaw |
g | — | a | — | b | — | dfrer o 3ifaw faw

(a) . Name one gustatory receptor and one olfactory receptor present in human beings.

(b) -~ Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | ——» | a | ——> | b | —— | End point of Neuron
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5. e feret Tt qUor g 36k AT W fomay <hi forelt off Teurfa o e wea &1 foms &1
e 3R aTEs ¥ Bier yidfers s9ar 2, 1 I8 gdu fohl TR 17 ? 3194 I HI gfee
fore reifera feptor 3t Wi | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.

6. T (3mees) srfufshanati O AT ien] 1 die o ToTT a1 d1 ST 37T TehTeT AT
Torera ot <t STTvIhal Bl & | Teieh TehR <h fertier rfufsham, forem svsur, wepmar 37k
forera Stt <ht STYfcd St STt B, 6 ToTw wsh-Ush TEmIfeh Tteht forfau | 3

Decomposition reactions require energy either in the form of heat or light or electricity
for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

7. Tl wrEActt # grgR 5% &% 3 The oo 3HH 2 mL TSI gEgiadTss &l faerH
STCAT T | JEett <ht Tt &1 M i W hIg T Icafid g8 foraest wiem 3 @ qd
39 g o foerm @ yanfga fopen men frem 9 & goge 99 | g9 areft At
TR G 38 1 % Hg= & fore whewr foafee | afe =& arg foreh yea o & g
Torera @ arfuforan X, 1 St e ScfSTa gt sae 9 fofem | 3

e

YehIE] ! TS 3T TAT S o foTu 3w foru i aret fepeft etaror shT pH A 14 % |
39 SIUT <l TETHT qT &b 0T o fote Tramfes Tftentor faflau | 59 g 3u=mi
= S |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal

taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR
The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.
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8. (a) h1eA o Afershiw NIk fereld & FaTeTh R BT 7 ? 3
(b) Teret T Hqw ik 1 AW 7R IHAT TG e faw e WA T % €9
T HITId Bid 2 | 39 AifiTeh T IuTRId Uehed 3TTae1 <ht T feafau |

(a) Why are most carbon compounds poor conductors of electricity ?

(b) Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

9. Tafcfga == ufert gra wrfera STHTT o1 919 91 Tdeh 1 Uk Yeh feAfT | 3
(a) AT (b)) NI (¢) FRTW

Name the hormones secreted by the following endocrine glands and specify one

function of each :

(@) Thyroid (b) Pituitary (c) Pancreas

10. 3TN S 3T ififeh S o o9 Teh 3R faIRgu | 36l S o aTefl 31eran
RAfiTeh S U ATt SRS § & fopeeh gy Sia SfiRiis sl STRSIfAn o STuEehd
1Tk | &1 Tehd & ? 319 TR <hi gfee % fotw shrer €ifru | 3

Write one main difference between asexual and sexual mode of reproduction. Which
species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

11. o191 & 399dq o 439 faftge | ue “fordt aream w1 fruer smadames” i samen Sifse
3R 39 e a1 fAata # T <Y =1e o o o e i eid o oy =5t fefigu | 3

G

Topell 18 <1 &A1 & 91 ATl @ 7 ST ST AT fAIRAT | i BT 40 cm Hishd G 1
A ITANT L &1 8 7T I3 371 B 20 cm B G 1 <8 STAN L &1 & | 3 Gl
ST 6t wehf 3R g fafew |
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13.
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State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR
What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

g sy fob i wfadierhl, fm weish o1 wfadier 9 Q B, 1 319 forg wehr Gifora s
Top TS 1 e wfalie (i) 13.5 Q, (ii) 6 Q T & ? 3
CRE
(a) ST 1 a9 M fafe |
(b) I eI v 8 & T 1 1A 100 W; 220 V T4 GER T 60 W; 220 V 2,
Tereft ferega o & Ty rvdshy | A € | Afg ferga smyfd Y Seear 220 v B,
o T Sosit gRy forgd w & fohet oy oft STt R 2

Show how would you join three resistors, each of resistance 9 Q so that the
equivalent resistance of the combination is (i) 13.5 €, (ii) 6 Q ?
OR
(a) Write Joule’s law of heating.
(b) Two lamps, one rated 100 W; 220 V, -and the other 60 W; 220 V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from

the line, if the supply voltage is 220 V.

(a) Terelt =TeTh, Foraeh! aTmepfd ar e B, o1 wiatr o sent W s s°tar 7, 3eh1

T |
(b) &gy ferga <t 3Tt =Teteh TUT Shid fIEd <1 HeITeTsh 1 BIaT 8 7 HRUT I |
(c) Torera amam Ifekat & wrarra: frsmqan o1 Iu @ fohar Sran & 7 R G | 3
(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.
(b) Why are metals good conductors of electricity whereas glass is a bad

conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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14. et faemem™ < BT 4 Wa:-Heid 891 § 98 TR g1 76 fdooht § |8 &1 5 w&d
IS B T 37 63 MSAT 39 Aotd § g Tff | o ol off Sret 81 7TU 31 & 3R
ftheh ST 21 7T | Tegen watey 3 sifges O o off 3t fowe o == <t qen vl @ %S i
THE 1 & WIS o fIg el | 31=ia: BEI A g1 fergal o1 sy fepiet — vgeT o8 8
Toh ST 21 B 39~ LA 2 IHehT T4 BH T o, TAT GO I8 Tob il T o g9 A

HST 39 Bt | 3

(a) S HST B9 I Hd & ITh T4 o & 3T FIST |

(b) Tt AR, 1 | FH RS 3T B & T 30 F1 FFhd @ 7 foig T |

(c) 38 va # freres weiea 7 T geaii & fowar & st 1 foen & 571 @ <) gowt B

Al ST |

Students in a school listened to the news read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points

— one is self management of the garbage we produce and the second is to generate

less garbage at individual level.
(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. o9 AR ? B9 S iy =& S 9@ 8 7 oS sl o1 i sd gu foe o
THEATST ShT M TGAT TR, qTfeh T AT H S17Td S+ T8, I7ehT 3eoRd <hifou | 3

What is a dam ? Why do we seek to build large dams ? While building large dams,
which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.
311 7 [P.T.O.
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16. (a) @fskaar Soff & e h 4T o A 3TEh § g G137l < sy 6t fafer
=i ! fRa |
(b) I (TS) % HeHISS ITTEh Y HqL bl (hyu fohd Tep foham srar & 7 Fsspdor
% faftr= =ont <A1 = TaTfe T wfed Hifae | S faga e
TRSHT0T T ATHIThd 3T i | 5
(a) Write the steps involved in the extraction of pure metals in the middle of the

activity series from their carbonate ores.

(b) How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.

17. (a) 3YFeh mmad TRel 1 fGhm SeER, =Ieives T Bueelis & THfis Tt &
SR EN T 2 | 39 A1 SRATET <hl Ueh-Teh ST TR Ueh—Teh HIwT <hl T ST |
(b) 39 Azfes 1 A fetfan f weven =g g fo foreht aar <hi wemmo] wee 3ush
TRHTV GeHT <l T § 3Tk STHTe e 2 |
(c) 3yfes 3Tmad fem ferfem | 5

(@) The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of

all the three attempts.

(b) Name the scientist who first of all showed that atomic number of an element is a

more fundamental property than its atomic mass.

(c) State Modern periodic law.

18. (a) ®feR TRl I Taal o1 Ieer@ HIfTT |
(b) IR H TR - SR B = e 1 vy ferfw |
(¢) et 3R frera o <= aredt o1 % faflaw |
(d) omt 3R IR % el & o hIg Ueh TLeHTHe 3= fIiau | 5

YT
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(a) ScES oh! TR fAfET |
(b) Tk H IUTERIT SMURT Freied Teheh o1 A fofa |
(c) TME o IcESH a3 o1 IRE Wi 3 3T T IHH o b 3H TFT I AHHA
ﬁﬁm -
(i) NI TIRHBEE |
(i) T el forent & 3R ok | T3 Gfad St 2 |
(i) FSTEH g3 T T g WUSTiE & § |
(a) Mention any two components of blood.
(b) Trace the movement of oxygenated blood in the body.
(c) Write the function of valves present in between atria and ventricles.
(d) Write one structural difference between the composition of artery and veins.
OR
(a) Define excretion.

(b) Name the basic filtration unit present in the kidney.

(c) Draw excretory system in human beings and label the following organs of

excretory system which perform following functions :
(i) form urine.
(i) is a long tube which collects urine from kidney.

(iii) store urine until it is passed out.

19. (a) WFEHE T o & = {OU 7T Yeieh W 61 Y fAfge :
(i) VSR, - (i) SFSaTE, (i) T
(b) TGl Sl TTEHT 37T T <1 HElT § Ui HifT | 5

(a)  Write the function of following parts in human female reproductive system :
(i) Ovary (i) Oviduct  (iii) Uterus
(b) Describe in brief the structure and function of placenta.
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13 B AT 3 m g T IA v W Tl 318K i T 8 <@ JTaT | I8 BH

S gfee-q @ difed & 3aem 7w foifau | 30 g % dwfaa wror fafaw 3tk soes

e <t fafer 6t smen Hifv |

AR 1 ferfeTd & 7 samen hifr | 5
o

e 4 = = fou e yeis wm 1 % faRa

() gaett, (i) oitariept, (i) heeef otm,  (iv) veamedft ufsmt

T G T R VAT BT & 7 1 BIg STANER 36 ufe #r dam

AT R o} S HeheT B 7 310 IR Y gfse o forw spwor v |

A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.
Why do stars twinkle ? Explain.

OR
Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (iii) Crystalline lens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

RATHT 1 9T 8% +aH fTRa |
forera wieX o1 SRl frgTa fetfau |
forera wiex o = few w61 6 fetfa |
() IR (i) ST (idi) fave s 5
State Fleming’s left hand rule.
Write the principle of working of an electric motor.
Explain the function of the following parts of an electric motor.
(i) Armature (ii) Brushes (iii) Split ring
10
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Section — B

22, Torelt B 9§ WEARTEl A 3R B # 0T U 3R Tcthe qM i Hothe o St
forerri & Ut 7q o $© ghs STo | SN o G W § 38+ C 3R D W@ §
HaST: fore U Ufufem Tethe 37 S Tothe o Sofla foeql § SATERA 91q & s
T1o | fopa 3t fope TeeHor § 39 BT w1 U1 8 Uiedy fo@ms am 7 36 T4 % ATUR
W Ieoi@ HIFTT 6t i = erg Faiteres srfifspamsficr § it | 2

A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

23. o1 Y&rur foman ST @ o9 fordt w@aet # fou U sfem weiiss o fofeea 1 sifsem
Hothe Taeraq T Srar 2 2 affrfed vemafaes siifsean s qamtfes it qen sa
TeRUT | B4 aTed] AT o Tehr 1 A faifau | 2

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

24, Toret Uit o fescteh § Tl T &I01 v o foTu SRR STRI9YT =R shi <Al 9fsham o =Ron
1 =l 7413 | 2

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

25.  3THIET o S <hl TTshaT ot AT fetfaT, | 3ok S <hl Sfshan o fafy= =won &1 3faa shm
¥ fafa ifsT | 2
YT
s B A% H Yepor g 3Teifieh S o fafi= =l shi wmft Teiss w1 geresfi g

TT0T T TET R | T8 WSS U S e U101 Shid] 2 U 3@ Tieeht (shue) eiisy |
311 1 [P.T.O.
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Name the process by which an amoeba reproduces. Draw the various stages of its
reproduction in a proper sequence.

OR
A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

26. 4.0 cm 4TS B HI3 f 20 cm HiHE gl b Rl I <8 & TR H5 0” |
30 cm gl W @ g | S ATt Sidafers o fRufa TR |1es 91 e % R0 sma
it | 39 3@ | YR g ‘O’ U1 T Bihd ‘F° 3ifeha Hifve | wfafers
Fag 3R fers it Sarg w1 T 31T ot T i | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

27. Tt wfaierss, fraest gfotia (R) 7, 9 wetfea faga am (1) 31 356 &l o o9 degedt
favar (V) & 7 = fou e e §

V (dee) 05|10 | 15|20 |25]30] 40| 50

I(TPRR) | 0.1 [ 02]03|04)|05]06]08]1.0
TR (1) 3R fawrem= (V) & s 7% Wit 3T gferiees o1 Ifelie (R) I i | 2

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 05|10 | 15|20 | 25|30 40|50
I (amperes) | 0.1 | 0.2 | 03 | 04 | 05 | 0.6 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.
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